Telemecanique Osiris
Photo-electric sensors > E&EES

Innovation using single product
£ HE—EmiRl

A simple press on the button automatically
configures the sensor and provides optional
performance for the particular application.

With Osiconcept®, intelligent self-teaching of
the application, discover the first photocell that
independently performs all 5 conventional
detection modes for outstanding simplicity of
selection and setting-up.

HIMSERER  RERR—7 GRBNEHERIRE
HRENERE -

25 Osiconcept M2 E—NEREESHELEER
BEER  RARTERZHBNNSERESE -

a braad of

Schneider
Electric

Telemecanique




Ohject presence detection, programmable #14H&8 - FTHBE NO / NC

AEL U= L =

Diffuse against Diffuse Polarised reflex Thru-beam ¥t 5t
background @at 1k 5 ot (with thr u-beam accessory
HRNHE w;}%?ﬂf HF)

Osiris, photo-electric

M18 plastic %2l

M18 metal &%

Universal Osiconcept’

Usable sensing distance & 1S BER (m)
Adjustment via Oslconcept” teach made
@ Oslconcept’ 2Rt BHHREESR

0.12 0.3 2 15

0.12 03 2 15

Case material ¥ / Dimensions R (mm) @ x L or siW x Hx D

plastic 2% /M18 x 64

metal & /M18 x 64

Fixing &7E (mm)

M18x1

M18x1

Connection &

Supply voltage EERHE —awies 0. 36vdeEn
W [ = multi-voltage SEBE,
20 264V acEFE/10 _36Vde HiFR

precabled RESE (2 m)/
M12 connector E#28 (1)

pre-cabled BESE (2m)/
M12 conneclor E#8S (1)

programmable BT #&732 NO / NC

programmable A4 NO / NC

Transmitler & 5188/ Receiver W as — PNP XUBOAPSNL2 XUBOBPSNL2
— NPN XUBOANSNL2 XUBOBNSNL2
— PNP / NPN programmable 7472 = s
Ao [ === time delay B 5T s o

Thru-beam accessory 8+ (Transmitter 225 £%) __i XUBOAKSNL2T XUBOBK SNL2T

Object presence detection NO #1448 NO (

Optimum &1t &

L=t 1 =[] %
Diffuse Polarised reflex Reﬂex Thru-beam “
gkl A A 5t e
15 0.6 2 4 15

Usable sensing distance & f18 EERE (m)

Case Malerial 848 / Dimensions R (mm @ xLor AW xHxD

plastic 2% /M18 x 46

metal /& /M18 x 46

Fixing &% (mm)

M18x 1

M18x 1

Connection ##

Supply voltage E‘[ E T 3-wire £ PNP (3) 10...36 Vdc. Bt
pp y g o I{ < mulli-voliage ZHETE,

pre-cabled RRAETE (2 m)/
M12 connector 188 (1)

pre-cabled FAEISEE (2 m)/
M12 connector 88 (1)

20..264Vac ik /10,36 Vde HiR NO {4) NO (4}
Recetver or Transmitter 3228 85 5188 / Diffuse 8 &t XUBSAPANL2 XUBSBPANL2
Receiver a8
Polarised reflex &1t &5 XUBSAPANL2 XUBSBPANL2
Reflex = 5t XUB1APANL2 XUB1BPANL2
Thru-beam receiver 5 =5 i e XUB2APANL2R XUB2BPANL2R
Thru-beam Transmitter 5 23 51 8% i XUB2AKSNL2T XUBZBKSNL2T

1) For M12 conneclor, replace "L2" or "T16" by "M12". Example: XUBOAPSMNL2 becomes X

2

(1)

{2) For M8 connector, replace "L2" by "M8". Example: XUMOAPSAL2 becomes XUMOAPSA
(3) For versions with NPN oulpul, replace "P" by "N". Example: XUBOAPSNL2 becomes XUI
4

4) Far versions with NC, replace "A" by "B". Example: XUBSAPANL2 becomes XUB5APBN



>

ensors X EERES

liniature #fi/]\ 2

01

04 3
I

03 08

4 30

plastic 228 /12 x 34 x 20

plastic 28 /18x50x 50

plastic 23 /30x 92 x 71

direct: fixing cenlres B : F/.0MEE 25 5,

M3 screws $8£]

direct: fixing centres B : ORI 40 x 40, M4 screws $RET

direct: fixing centres &1 : ONEEE 30/38 x 40/50/74, M5 screws 35T

pre-cabled RATEE (2 m)/
M8 connector JE#88 (2)

pre-cabled BESEE (2 m) / M12 conneclor E#=E (1)

screw terminals with 1SO M16 cable gland #2275 1% 1SO M16
EEEYE /M12 connector E#2E (1)

£ = i f === o % =
programmable T4 NO /NC programmable FI#87#2 NO / NC programmable FRE NO / NC programmable "4 NO / NC programmable T4 NO / NC
XUMOAPSAL2 - - - -
XUMOANSAL2 - - - -
- XUKOAKSAL2 - XUXOAKSAT16 -
- - XUKOARCTL2 - XUXOARCTT16
XUMOAKSAL2T XUKOAKSAL2T XUKOARCTL2T XUXOAKSATI6T XUXOARCTT16T
30 14 40

plastic 28 /12 x 34 x 27

plastic 28 /18x50x 50

plastic 23 /30x 92 x 71

direct: fdng centres B3 © FUREE 25 5,

M3 screws 88187

direct: fixing centres B : O ME 40 x 40, M4 screws £

direct: fixing cenires 4 : P /0REEE 30/38 x 4050774, M5 screws 5 2]

pre-cabled BESE 2 m)/
M8 connector 88 (2)

pro-cabloed FRAEE (2 m) / M12 connector #1588 (1)

screw terminals with IS0 M16 cable gland #8475 7% 1SO M16
EETEE /M12 connector B8 (1)

NO (4) NG (4) NO + NG NG (4) NG+ NC
XUMSAPANL2 XUKSAPANL2 XUKSARCNL2 XUX5APANT16 XUXSARCNT16
XUMSAPANL2 XUKOAPANL2 XUK9ARCNL2 XUX9APANT16 XUXSARCNT16
XUM1APANL2 XUK1APANL2 XUK1ARCNL2 XUX1APANT16 XUX1ARCNT16
XUM2APANL2R XUK2APANL2R XUKZARCNL2R XUX2APANT16R XUX2ARCNT16R
XUM2AKSNL2T XUK2AKSNL2T XUK2ARCNL2T XUXOAK SAT16T XUXOARCTT16T

UBOAPSNM12 (1) SRMAZERSE - A “M12° TR “L2" 5 “T16" » fl : XUBOAPSNL2#: B XUBOAPSNM12

M8 (2) HRMBE S - [ “M8"BR “L2" o i : XUMOAPSAL2#2 S XUMOAPSAMS

30ANSNL2 (3) HHNPNE HIER - N B8 P o i : XUBOAPSNL2#R RXUBDANSNL2

(4)

L2

4

FANCHES] A "B” B "A” o fil : XUBSAPANL2# i XUBSAPBNL2



ACCGSSOI‘IGS Bﬁ{q: {to be ordered separately FE3TIR)
Reflectors & ¥R

24 x 21 @80 50 x 50
XUZC24 XUZCs0 XUZC50
3D fixings with ball joint B £S5 a0 i

a single product that

- ’% Bracket with ball Protective housing M2 rod Fixing
! joint for sensaors or with ball joint for ball support for
aUtomatlcaIIy adapts to reflector ¥UZCE0 FHEERENRELIE joint W12 rod
H A R A A R HRAEEA M12FF A8
all conditions BEEXUZCSVLR /7 > B EE
oo [ | LY V‘/
BE—NEmBEER v &
FhrBRASS Gl
m wl7Ronna ==
HUB XUZB2003 (-‘?@ﬁ
HUM... XUZM2003 UM XUZmM2004
HUK XUZK2003 XUK.. XUZK2004
KU XUZX2003 ®UK XUZX2004 XuZz2001 XUZ2003

Simple fixings fEZEEEHS
Single bracket B—% 3

|

for # AR standard ZE standard %R with ball joint SR EE
XUB.. - XUzZai1s Xuzaz21is
(stainless steel TERH) (plastic ¥
HXUM... XUZAS50 - -
KUK XUzZasi - -
HUX.. XUZX2000 % =

Composition of reference A5E A4 A

5 . B=oylindrical B K = compact BI5E s0x50
Design Mx - W = miniature #<hEL X = cormpact $HE

Material $% : A = plastic 2%, B = metal &8

———————————— Cutput BH AR A=NO, B=HNC 8=NONG
XUB5APANL2 L2 = pre-cabled AAEIES (2 m)

e G - WMA2= W12 connector dEiEER
Sotnsetion ik M8 = M8 connector B3R
T16 = |80 W16 cable gland BEI#HE

Output il - P= PHP 38PNPE, N= NPN 3ENPNER
0 = Osiconcept” HAR

Mode BEMRE - 1 =reflex RAH 5 = dittuse BHE
2 = thru-beam HafH 9 = polarised reflex 1k & 515

The above products are only a selection of the most popular products, for other versions, please consult Schneider Electric (HK) Lid
UEERDERER  ERHAL  BOETE (E8) BRAFESR -

Schneider Electric (HK) Ltd. Room 3108-28, 31/F, Sun Hung Kai Centre, As standards, specifications and designs change from time to time,
A E ] (#i) BEAE 30 Harbour Road, Wanchai, Hong Kong please ask for confirmation of the information given in this publication.
BT AEE30MBE P 031183108-28F HAMEE  RERRFTSEEE  BERMNHEIrIERER -

Tel B:E: 2565 0621 Fax {£K: 2811 1029
Customer Hotline %5 IR Eé: 2579 9699
www.schneider-electric.com.hk

CI28HKSE 03/2004



